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(1-1) cos(a+ ) = cosacos B —sinasin 3
sin(a + 3) = sin acos 3 + cos asin 3

(1-2) cosnx +isinnx = (cosx +isinx)”

002/0000000000

sin 4z

1) I

sin 3z

(2-2) lim—
z—0sin 2z

1—

(2-3) lim— >
z—0 xsinw

sin 3z

2-4) 1i
( ) xl—r>r71r sin 2x

—m/2
(2-5) lim 2=/
z—7/2 COSXT

EEEIL:

(3-1) 00 f(z)0000 f(z)00000000
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DDDDDDD ¢* = cosz +isinz 000000000000000

(3-2) f(z)=sinz0000000000000000000000
(3-3) f(z)=cosz000000000000000000000OO
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